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εk = µ4/σ4 − 3
)

-./.0. 12 343 56 789:;<= 5=>?=
X = 4, a, 9, 12, 16
p = 2, 34, 41, 30, 12
D(X) = 8.1223

-./.0. 12 3@ 3 A :6?B 5C> DE F G?C 7B<H
X = 5, 6, 10, a, 16
p = 13, 33, 49, 34, 5
D(X) = 9.7572

-./.0. 12 31 3 A 76 ?I9?B J7?C G<K
L<;:K6?B<H
X = 4, 6, 10, 12, a
p = 5, 36, 51, 36, 5
D(X) = 7.8272

-./.0. 12 32 3 A ?=M:C 7=8? 5=MC 7K
X = 4, 6, 10, a, 16
p = 8, 35, 50, 41, 4
D(X) = 11.9420

-./.0. 12 3N 3 J<6OE :=?B A I6:>
P:<6O7B<H
X = a, 7, 9, 14, 17
p = 2, 34, 42, 41, 13
D(X) = 12.6342

-./.0. 12 3Q 3 R G?C ?B S 97B?6?M T<C <66 ?B<H
X = 4, 7, 11, 14, a
p = 7, 38, 44, 36, 7
D(X) = 11.4189

-./.0. 12 3U3 V IC:B6 7B: 5=:9>:9<W
X = 3, a, 10, 13, 16
p = 3, 37, 43, 36, 9
D(X) = 10.8329

-./.0. 12 3X 3 Y:;:C ?B Z :=<6
56 789:=MC ?B<H
X = 3, a, 10, 13, 16
p = 3, 31, 42, 36, 3
D(X) = 9.3205

-./.0. 12 3[ 3 YI\C <6OH7B Z :=<<6
X = 4, a, 9, 12, 17
p = 10, 41, 40, 38, 11
D(X) = 8.9214

-./.0. 12 34] 3 F^?>?B _?E := F G?C 7B<H
X = 4, 8, 11, 13, a
p = 7, 41, 50, 34, 8
D(X) = 7.9543

-./.0. 12 3443 `I8:=<= 56789:=MC
a7C G77B<H
X = 4, 6, 10, a, 15
p = 9, 37, 50, 32, 4
D(X) = 7.8675

-./.0. 12 34@ 3 a7E 7=?B Z E <>C <K
a7C G77B<H
X = 4, 6, a, 12, 17
p = 3, 35, 52, 38, 12
D(X) = 10.2798



-./.0. 12 341 3 a7= aI\;:E
X = 3, 7, 9, 12, a
p = 7, 36, 43, 30, 10
D(X) = 8.0612

-./.0. 12 342 3 a> 7b:=?B: aB7>6:=:
X = 3, a, 9, 12, 15
p = 4, 39, 45, 31, 5
D(X) = 6.0923

-./.0. 12 34N 3 c>8<= 5C> 7E R BG7=O7B<H
X = 4, 8, a, 14, 15
p = 4, 34, 42, 42, 9
D(X) = 8.1316

-./.0. 12 34Q 3 dC:b?B F B:= P <8?6:7B<H
X = 3, a, 11, 13, 16
p = 6, 33, 52, 39, 13
D(X) = 11.5786

-./.0. 12 34U3 e7C =fg 7B R G?C S :M<E ?B<H
X = a, 7, 10, 13, 16
p = 9, 33, 44, 32, 6
D(X) = 9.0439

-./.0. 12 34X 3
X = a, 7, 10, 14, 15
p = 7, 39, 48, 40, 7
D(X) = 10.6598

-./.0. 12 34[ 3
X = 4, 7, a, 14, 16
p = 5, 34, 47, 42, 7
D(X) = 10.7399

-./.0. 12 3@] 3
X = a, 8, 11, 14, 16
p = 6, 41, 51, 35, 9
D(X) = 7.9185

-./.0. 12 3@43
X = 4, 6, 9, a, 16
p = 9, 38, 42, 39, 6
D(X) = 10.9974

-./.0. 12 3@@ 3
X = 4, 7, 10, a, 17
p = 10, 32, 45, 36, 9
D(X) = 10.6916

-./.0. 12 3@1 3
X = 4, 7, a, 13, 15
p = 2, 36, 40, 34, 8
D(X) = 7.8275

-./.0. 12 3@2 3
X = a, 7, 9, 13, 17
p = 10, 41, 43, 41, 8
D(X) = 9.8841

-./.0. 12 3@N 3
X = 4, 7, 9, 13, a
p = 6, 37, 43, 35, 6
D(X) = 8.6937

-./.0. 12 3@Q 3
X = 4, a, 10, 14, 16
p = 3, 41, 45, 36, 5
D(X) = 9.4202


